}
Maintenance
tyes, no}

}

lrain
ton time, delayed}

'

Rain
tnone, light, heavy}
Appointment
tattend, miss}



Rain

{none, light, heavy}

R = none

none

light

heavy

0.7

0.2

0.1




R = none
M = yes
Rain
\none, light, heavy}
R yes no
Maintenance none 0.4 0.6
{ves, no} light 0.2 0.8
heavy 0.1 0.9




Rain
{none, light, heavy}

Maintenance

tyes, no}

lrain
ton time, delayed}

R = none

M = yes

1 =on time

R M | ontime | delayed
none | yes 0.3 0.2
none | no 0.9 0.1
light | yes 0.6 0.4
light | no 0.7 0.3
heavy | yes 0.4 0.6
heavy | no 0.5 0.5




Maintenance R = none
{yes, no} M = yes
1 =on time
Train A = attend
lon time, delayed}
T attend MIss
Appointment on time 0.9 0.1

tattend, miss} delayed 06 0 4




R = none

M = yes

1T =on time

A = attend




R = light

M = no

1T =on time

R =none

A = miss

M = no

R = none

1T =on time

M = yes

R = none

A = attend

1T =on time

M = yes

A = attend

1T =on time

R = light
M = yes
T =delayed
A = attend
R = none
M = yes

R = heavy

A = attend

1T =on time

M =no

R = light

A = attend

T =delayed

M =no

A = miss

1T =on time

A = attend




P(7rain = on time)



R = light

M = no

1T =on time

R =none

A = miss

M = no

R = none

1T =on time

M = yes

R = none

A = attend

1T =on time

M = yes

A = attend

1T =on time

R = light
M = yes
T =delayed
A = attend
R = none
M = yes

R = heavy

A = attend

1T =on time

M =no

R = light

A = attend

T =delayed

M =no

A = miss

1T =on time

A = attend




T = delayed

T = delayed




P(Rain = light | Train = on time) ?



R = light

M = no

1T =on time

R =none

A = miss

M = no

R = none

1T =on time

M = yes

R = none

A = attend

1T =on time

M = yes

A = attend

1T =on time

R = light
M = yes
T =delayed
A = attend
R = none
M = yes

R = heavy

A = attend

1T =on time

M =no

R = light

A = attend

T =delayed

M =no

A = miss

1T =on time

A = attend




R = light

M = no

1T =on time

R =none

A = miss

M = no

R = none

1T =on time

M = yes

R = none

A = attend

1T =on time

M = yes

R =none

A = attend

1T =on time

M = yes

A = attend

1T =on time

R = light

A = attend

M =no

1T =on time

A = attend




R = light

R =none

M = no

R = none

1T =on time

M = yes

A = attend

1T =on time

A = attend

R = none
M = yes
1T =on time

R = heavy

A = attend

M =no

M = yes
T =delayed
A = attend
R = none
M = yes
1 =on time
A = attend

T =delayed

A = miss




